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9. The maximum 7
2 ) 16+/3 m cubic units

(A) 43 cubic units
(C) 343 n cubic units (D) 63 n cubic units

G
S\

g, If flx)=x ox1-% then fx) is
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. = R X< D)
_(x+ Dlog@#D) o B
© /e x-3 . s 7 - =3
v &m 1
/vg\fxlwlx::om?l % ﬂx\w @\\m\\ - :
int are respectively R
family of curves whose X and v intercepts of a tangent at any poin
13. The family ot C A g
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; 3 4 " . TTg dnd thevnkne {
‘: % =5 is =
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‘ ; Mensional space represent,
‘ \}Va Pair of strajoht 1: 3
‘w raight lineg . U\
| ®  aplane %/ (A)
o N (B)
(©
(D)
T,
Q)
Q
M



fined by

g, r are vectors de
b

planar vectors and p,

=3
= 7 2 grethree nod% P
17. 31 a bt c Al =
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23.

; :ﬁregion for an LPP are{0y2) (3, 0), (6, 0), (6, 8) and (0, 5). [, - 0, 2), (8, 0), |

Corner points of the fe _ e ; |
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z = 4x + By be the obj

103
(A) Only(0,2) Rdane
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27.
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30.

31.

Two finite sets have I &8
set is 56 more than the toi:al

respectively are

A 17,6

If [x}2 —5[x] + 6 =0, where {x] denotes the greates

B) xel(2,4) (©)
SOk =G ot 4G~ SR T
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34. In the expansion of (1 +X) 5
& +29_2_ +39_3_ +.0 +n—L_ jgequal to CO
CO Cl Cz i n-1 : B
1 3n(n+1) (
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W £ . 2
1 Ty ¢ the common T el
35. If S, stands for sum to n-terms of a G.P. with a’ as the first term and g =
ratio then S, : Sq is S, ax
1
(A) 41 (B) = (©) (A)
r +1
36. If AM. and GM. of.roots of a quadratic equation are 5 and 4 respectively, then the 36. 2o
quadratic equation is ~— \QD <O gﬁ 2D
4) x%-10x-16=0 '}L ~ 5> )}( 1L N (A) s
) x®+10x+16=0 ’f»\i L@\D (;L (B) x
2 3
(C) X“ 4+ 10x — 16 =0 (C) <
2L it
(D) x*-10x+16=0 ) x
37. The angle between the line x 1 y 3 and the line ; Joining the points (1,1) and (- 3,4)is 37. Doy
( tan™1 (7) (B) tan-1 (-%J filaeafs;’)
7 7 -
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: \,\wmﬁwmx\\w isequal to
ag. :5: cotXx — 1 4
X 4 \

o 3 (C)
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40, The negation of the statement

. 2 1Q rp. »
“For every real number X; X“ + 5 is positive
is
+ 9 18 not positive.

(B) For every real number x; x? + 5 is negative.

(A) For every real number x; x

%}fﬁd exists at least one real number x such that x2 + 5 is not positive.

(D) There exists at least one real number x such that x2 + 5 is positive.

41. Let a, b, ¢, d and e be the observations with mean m and standard deviation S. The
standard deviation of the observations a + k,b+k,c+k,d+k and e+ k is

(4) kS /\mv\mlw () m

S
42. Let f:R 5 R be given by fx) = tan x. Then f-! (1) is
i 3
(A) > (B) F:+W“5m§
N :
3 (D) F:+W”dm§
43. Let f: RSB be defin 92
o ed by f(x) = x2 + 1. Then the Pre imageg of 17 anq -
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\/w/ﬂx) - sinx , EXLE

9
(D) fix) = siny/x , SEAE.

-Z:3TC, then x(y+z)+y(z+x)+Z(X+Y) equalsto

. © 6 O 12

46. TIf cos~l x + cos Ly +eo
,V(A/)ﬂ 0 _

47. If 2sinlx—3cos”

4 - 6 6 — 3n
, i D) 0
(A) - 5 ( - D) ‘

48. TIfAis a square matrix such that A” = A, then (I + A)® is equal to

\y/ 7A +1 (D RA
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ix A and |Al =4,thenais equal to

A 3
3B+1
coSX X 1 s
53, Let fu)elmuin e SRR | Then U7 =
. x>0 x2
sinx X b :

54. Which one of the following observations is correct for the features of log

, any baseb>17?
(A) The domain of the logarithm function is R, the set of real numbers

\)B’)/’Jl‘he range of the logarithm function is R*, the set of all positive re al
e re
(C) The point (1, 0) is always on the graph of the logarithm functio
101,
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